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1Ð öë ö„þy˜ ”Ÿ!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒ [10×2] 

 „þV xíÅ÷ì˜!‚þ„þ vþz§¬ëû̃  !„þÚ 

 …V ò!œD vþz§¬ëû̃  ¢)‣þ„þóéôé~îû ¢‚Kþy ‛yçÐ 

 †V xíÅ÷ì˜!‚þ„þ þ™!îû„þÒ˜y !„þÚ 

 ‡V ¢y›y!‥„þ ßþiyëû# ›)œ“öì˜îû ¢‚Kþy !„þÚ 

 •V òþ™Øþyê›%…# ¢‚öìëy†²Ì¦þyîó „þyöì„þ îöìœÚ 

 ‣þV ‥˜¢‚…Äy îû*þ™yhsþîû‚þöì_́îû !‚þ˜!Ýþ hßþîû !„þÚ 

 ․éV ‡yÝþ!‚þ xíÅ¢‚ßþiy˜ !„þÚ 

 ‥V xîy“ îy!˜öì‥Äîû þ™öìÇþ ‛%ó!Ýþ ë%!_« ‛yçÐ 

 GþV xy›‛y!˜ ²Ì!‚þßþiyþ™˜ !„þÚ 

 ~…V ²Ì‚þÄÇþ !îöì‛Ÿ# !î!˜öìëûy† (FDI) !„þÚ 

 ÝþV îý‥y!‚þ„þ vþzêþ™y‛˜¢‚ßþiy (MNC) „þyöì„þ îöìœÚ 

 àþV îy!’‥Äéôé£yîû „þyöì„þ îöìœÚ 

 vþV xyhsþ‥Åy!‚þ„þ xíÅ¦þy[þyîûéôé~îû ‛%ó!Ýþ =îû&cþ™)’Å „þy‥éôé~îû vþzöìÍÔ… „þîûÐ 

 ‘þV TRIPS „þyöì„þ îöìœÚ 

 ’V òö‥yîû “yEþyó îy big-push !„þÚ 
 

2Ð öë ö„þy˜ !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ‛yçÐ [3×5]  

 „þV ò›y˜î vþz§¬ëû̃  ¢)‣þ„þó !î¡ìöìëû ~„þ!Ýþ ¢‚!Çþ® Ýþ#„þy öœ…Ð 

 …V xyhsþ‥Åy!‚þ„þ îy!˜öì‥Äîû „þöìëû„þ!Ýþ ¢%!î“y ¢‚öìÇþöìþ™ vþzöìÍÔ… „þîûÐ 

 †V ò!îÙ»îÄyBþóéôé~îû ²Ì“y˜ „þy‥=!œ ¢‚öìÇþöìþ™ xyöìœy‣þ˜y „þîûÐ 

 ‡V ¢‚îûÇþöì’îû ¢›íÅöì˜ !ŸÖ!ŸöìÒîû ë%!_« ¢‚öìÇþöìþ™ vþzþ™ßþiyþ™˜ „þîûÐ 

 •V !îöì„þw#„,þ‚þ þ™!îû„þÒ˜yîû ¢›íÅöì˜ „þöìëû„þ!Ýþ ë%!_« ‛yçÐ 
 

3Ð öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ‛yçÐ [4×10]  

 „þV xíÅ÷ì˜!‚þ„þ î,!kþ ~î‚ xíÅ÷ì˜!‚þ„þ vþz§¬ëûöì˜îû ›öì“Ä þ™yíÅ„þÄ=!œ ¢‚öìÇþöìþ™ xyöìœy‣þ˜y „þîûÐ [10] 

 …V ¢%¡ì› vþz§¬ëûöì˜îû “yîû’y!Ýþ îÄy…Äy „þîûÐ x¢› vþz§¬ëû̃  ç ¢%¡ì› vþz§¬ëûöì˜îû ›öì“Ä þ™yíÅ„þÄ !„þÚ [5+5] 

 †V ‚%þ!› !„þ ›öì˜ „þîû öë vþzm,_×› ë%_« xíÅ˜#!‚þöì‚þ ¢îÅ‛y ×› !˜!îvþü vþzêþ™y‛˜ ö„þïŸœ x %̃¢îû’ „þîûy vþz!‣þ‚þÚ vþz_öìîûîû ¢›íÅöì˜ 
ë%!_« ‛yçÐ [10] 

 ‡V vþz§¬ëû˜Ÿ#œ xíÅ˜#!‚þîû þ™!îûöì²Ì!Çþöì‚þ ²Ìë%!_« £hßþyhsþöìîûîû „þöìëû„þ!Ýþ ¢%!î“y ç x¢%!î“y xyöìœy‣þ˜y „þîûÐ [5+5] 

 •V ‚,þ‚þ#ëû !îöìÙ»îû ö‛Ÿ=!œîû vþz§¬ëûöì˜îû þ™!îûöì²Ì!Çþöì‚þ !îÙ»îy!’‥Ä ¢‚ßþiyîû ¦)þ!›„þyîû ›)œÄyëû̃  „þîûÐ [10] 

 ‣þV xíÅ÷ì˜!‚þ„þ vþz§¬ëûöì˜îû ‥˜Ä xíÅ¢‚@ùÌöì£îû !î„þÒ þ™kþ!‚þ=!œ xyöìœy‣þ˜y „þîûÐ [10] 

 ․éV xíÅ÷ì˜!‚þ„þ þ™!îû„þÒ˜yîû ßþºþ™öìÇþ ë%!_«=!œ ¢‚öìÇþöìþ™ öœ…Ð ~£z ²Ì¢öìD þ™!îû„þÒ˜yéôéîÄíÅ‚þyîû „þyîû’=!œ vþzöìÍÔ… „þîûÐ [5+5] 

 

English Version 
 

1. Answer any ten questions : [10×2] 

 a) What is economic development? 

 b) Define Gender Development Index. 

 c) What is economic planning? 



(2) 
 

 d) Define social overhead capital. 

 e) What is backward linkage effect? 

 f) What are the three phases of demographic transition? 

 g) What is deficit financing? 

 h) Give two arguments in favour of free trade. 

 i) What is import substitution? 

 j) What is FDI?  

 k) What is MNC? 

 l) What do you mean by terms of trade? 

 m) Mention two important functions of the IMF? 

 n) What do you mean by TRIPS? 

 o) What is big-push? 
 

2. Answer any three questions : [3×5] 

 a) Write a brief note on Human Development Index. 

 b) Discuss briefly some of the advantages of international trade. 

 c) Discuss briefly the important functions of the World Bank. 

 d) Discuss briefly the “infant industry argument” for protection. 

 e) Mention some arguments in favour of decentralised planning. 
 

3. Answer any four questions from the following : [4×10] 

 a) Discuss briefly the major differences between „economic growth‟ and „economic development‟. [10] 

 b) Discuss the concept of balanced growth. How is unbalanced growth different from balanced 

growth? [5+5] 

 c) Do you think that a labour surplus economy should always choose a labour-intensive method of 

production? Defend you answer. [10] 

 d) Discuss some of the advantages and disadvantages of technology transfer in favour of developing 

countries. [5+5] 

 e) Discuss critically the role of WTO in the context of development of Third World countries. [10] 

 f) Discuss alternative methods of financing economic development. [10] 

 g) Discuss briefly the arguments in favour of economic planning. Mention in this context the reasons 

for plan failure. [5+5]   

  

 

 

 

 

  


